
Watch step by step installation instructions at:

WARNING! ALL MURPHY/WALLBED SYSTEMS CONTAIN STORED ENERGY. FAILURE TO USE 
AND FOLLOW THESE INSTRUCTIONS DURING THE INSTALLATION PROCESS COULD RESULT 
IN SEVERE PERSONAL INJURY TO USER OR DAMAGE TO PRODUCT.  PLEASE CONTACT CUS-
TOMER SERVICE AT 866-725-6401 FOR ANY QUESTIONS.

https://www.wallbedsbywilding.com/spring-lift-setup/

Size:
Depth:
Type:

King
Deep
Vertical with 13ò Legs

Style:  Dakota

24

Revision 4.22



Page intentionally left blank



Studsensor

Ratchet

13mm Socket 11mm Socket 8mm Socket

Large regular screwdriver

Phillips screwdriver

13 mm open end wrench

Stud finder

STANLEY

Tape measureCordless screw driver

6 foot ladder

Tools Needed

Page 1

With Phillips bit



Bed Handles

2Qty

Dakota Style 
Handle

1ò
Machine screw

4Qty

Hardware Page

Page 2

Cam Fitting

Connecting Bolts

4

24

Other Hardware

Item Qty

ñLò Bracket

3

Pack 5

5/8ôô Pan head Screw
2

Item
Qty

Buckle Strap

1

6

5/8ôô Pan head Screw

2.5ôô Wood Screw

6

10
 1      Wood Screw1/4ôô

5/16ôô Nylock 
Hex Nut

5/16ôô x 1ò              
Allen Head Bolt

5/16ôô x 1ò   
Hex Head Bolt

5/16ôô x 1 1/4ôô

16

10

2

4

Pack 2
QtyItem

1 5/8ôô Pan head 
Wood Screw 2

5/16ò Allen wrench

Tapered Allen Head Bolt

Panel Saver 2

6ôô

2.5ôô

(In rails box)

1òx 1ò x 1 3/4ò 
Four Hole Corner 
Bracket

10-24 Black 
Nylock Nut

10-24 x 1      Black 
Machine Screw

1/4ôô

5/8ôô Pan 
head Screw

10-24 x 1/2ôô Black 
Machine Screw

1/2ò x 3/4ò
Black Barrel
(Leg Stop)

16

2

160

14

2

4

Item

Item

Qty

Qty

Pack 3

Pack 7

Pack 4

1 1/2ò x 5/16ò
 Black washer

1 1/2ò X .765ò 
Black washer

1 1/2ò  Nylon washer

1/4ôô x 1 1/2ôô 
Hex Head Bolt

 Star Washer

2

2

2

2

4

Item Qty

3/4ôô Washer
2

(Extra)

 (From Manila Envelope)

OR

5.5ôô

1.5ôô

5mm Allen 
wrench

1



Left Side Board Right Side Board

Finished edge

Cut out for room 
base molding

Step 1: Locate the two Side Boards. If you 
purchased a King or Queen size bed the Side 
Boards measure 87.25ò long, Twin and full mea-
sure 83.25ò long.  Then from the small square 
cardboard box labelled SBLM, locate the two 
Lift Mechanisms, hardware bags, and springs.

5/16ôô x 1 1/4ôô

X 8

5/16ôô Nylock Nut

X 6

Hardware needed for next step from Pack #2

Repeat step 2 with the Left Side 
Board and Lift Mechanism.

IMPORTANT!  Over tightening the bolts will 
pull the head of the bolt too deeply into the 
Side Board.  Tighten only until the head of the 
bolt is flush with the surface of the Side Board .

Step 2: Install the Lift Mechanism to 
the right Side Board first by inserting a 
5/16 x 1 1/4ò Tapered Allen head Bolt 
through holes A, B, C and  D from the 
outside (countersunk holes) of the Side 
Board. The bolt then goes through the 
corresponding holes of the Right Lift 
Mechanism as illustrated.  Thread on 
three 5/16ò Nylock nuts and tighten 
hardware.  Hole ñAò  has a threaded 
collar instead of a nut.

Hole A

Hole B

Hole C

Hole D

Finished Edge

Base Board
Notch

    Right
Side Board

All holes are 
countersunk in 
this side of side-
board

Tapered Allen Head Bolt

19 7/8ò 19 7/8ò

Lift Mechanisms

Bag w/Springs

Hardware pack 2

From Box labeled
SBLM

(Threaded collar)

Page 3



Before you proceed, identify which spring type you have received:

Spring end hooks in opposite direction

Spring end hooks same direction

STOP

Proceed to page 5 - Step 3-A

Page 4

Proceed to page 6 - Step 3-B



Bed Size Number of Springs

King 9

King  
Size Bed

The required number of springs in the Lift Mechanisms varies with the different weights of 
mattresses. If you purchased your mattress with your bed from Wilding Wallbeds refer to the 
chart to the right. This will also be a good reference point for mattresses not purchased with 
your Wall bed. 

HELPFUL HINT: Watch how to do this step at:

Upturned edge 
of mounting 
plate

#1

#9

Tension Arm

 #5

Hole

#2
#3
#4

 #6
 #7
 #8

Lift Arm

Page 5

https://youtu.be/2C_Exc_pO-8

Or use the camera on your 
phone to view this step.

Hardware needed for next step:

(From box labelled SBLM)

Spring end hooks in opposite direction

Install a spring into hole 5 by hooking one end of the spring into the hole on the Upturned edge of the mechanism plate 
first then manipulate the Lift Arm back and forth slightly while placing the other end of the spring in the Tension arm into 
the corresponding hole. Now place a spring into the following holes in this order 4, 3, 2 ,1 then into holes 6, 7, 8, 9. You 
will need a total of 9 springs installed for a King size bed.

Step 3-A: Install required Springs in the Lift Mechanisms



Bed Size Number of Springs

King 9The required number of springs in the Lift Mechanisms varies with the different weights of 
mattresses. If you purchased your mattress with your bed from Wilding Wallbeds refer to the 
chart to the right. This will also be a good reference point for mattresses not purchased with 
your Wall bed. 

Hardware needed for next step:

Lifting Springs
(From box labelled SBLM)

First uninstall the springs from holes 6 and 7 by moving the Lift Arm to a position that allows the springs to come out of 
the Tension arm. Next install a spring into hole 5 by hooking one end of the spring into the hole on the Upturned edge of 
the mechanism plate and then manipulating the Lift Arm back and forth slightly while sliding the other end of the spring 
under the Tension arm and into the corresponding hole. Note:: you may need to bend the spring slightly or lift the tension 
arm slightly to get the spring to slip under the Tension Arm. Now put a spring into all of the remaining holes. You will 
need a total of 9 springs installed for a king size bed.

King  
Size Bed

#1

#9

Tension ArmUpturned edge 
of mounting 
plate

 #5

Hole

#2
#3
#4

 #6
 #7
 #8

Lift Arm

Page 6

HELPFUL HINT: Watch how to do this process at:
https://www.youtube.com/watch?v=A_KBN5oNGBU

Or use the camera on your 
phone to view this step.

Step 3-B: Install Springs in the Lift Mechanisms (4 springs are pre-installed)























Step 10: From hardware pack 3 locate the hardware shown above. Finger 
tighten the hardware as shown in illustration 7 connecting the Foot Rail to the 
Side Rail using the 4 hole corner bracket. Note the lower hole on each Side 
Rail uses the Leg Stop with the longer screw (1 1/4ò Machine).  Repeat step 
on the opposite side of the Foot Rail corner.

Head rail

Foot rail

Illustration 7

Illustration 8

Side rail

Panel Saver

Hardware needed for next 2 steps most from Pack #3

Panel Saver
(From rails box)

4 hole corner bracket

X 4 X 2
1/2ò x 3/4ò
Black Barrel
(Leg Stop)

X 
10-24 Black 
Nylock Nut

X 2
10-24 x 1      Black 
Machine Screw

1/4ôô

X 14
10-24 x 1/2ôô Black 
Machine Screw

6ôô

2.5ôô

4 hole corner bracket

10-24 Nylock nut

Leg Stop (black barrel) 1/2ò x 3/4ò

10-24 x 1/2ò Machine Screw (black)

10-24 x 1 1/4ò Machine Screw (black)

Foot Rail

Step 11:  Finger tighten 
the hardware as shown in il-
lustration 8 attaching a 4 hole 
corner bracket on the inside 
of the Side Rail and the Panel 
Saver on the outside of the 
Side Rail. Now connect the 
Head Rail to the Side Rail via 
the 4 hole corner bracket and  
repeat on the opposite Head 
Rail corner.

Step 12:  Once all 
sides are finger tight 
go back to each corner 
and align the corners 
as they are tightened 
using either a socket or 
wrench and a Phillips 
screw driver.

Side Rail

Side rail

Side rail

Head rail

10-24 Nylock nut

4 hole corner bracket

10-24 x 1/2ò Machine Screw (black)

Page 13

OR

5.5ôô

1.5ôô






















